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« W b5 ARA KR E > 1)
 S}LEO| HiZ=0f Of 3 gt S THs >>> [1, 2, 3]
" (1, 2, 3]

m 7E|'% X|‘E°o |O|'|—-|E|' Ef% X|‘E°=|o |' >>> ['One’, "Two', 'Three']

X|i7l—52 il |. ['One’, 'Two', 'Three’]

— == = < >»>> [1, 'One’, 2, "Two', 3, 'Three']

» AHINM O 2 H|=oH 2 =9| B 2= A9 [1, 'One’, 2, 'Two', 3, 'Three']

EHE _Iyg_-(-)-l_E _” A"% >>> [1, 2, 3, ['One’, "Two', 'Three']]

[1, 2, 3, ['One’, '"Two', 'Three']]

[‘one’, ‘two’, ‘three’]

‘three’
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- "1 0O
" E|¢§% 2k 2 X0 OHlércitE aE}tO“ M :;:: Ei [‘One’, "Two', 'Three']
ot7| {IoiM =24 T E 2| =XIE A8 ['One’, 'Two', 'Three']
>>> list[e@]
"One’
>>> list[1]
"Two'
‘one’ ‘two’ | ‘three’ >>> list[2]

"Three’

[0] [1] [2] >>> list[-1]
"Three’

[-3] [-2] [-1] >>> list[-2]
"Two'
>>> 1ist[-3]
"One’
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CODE

>»> list = [1: 2, 3, [IDHEI: "Two ', IThPEEI]]
list

>33

[1, 2, 3, ['One’, 'Two',
>»> 1ist[3]
[ ‘One’, "Two', 'Three']
>»»> list[3]][e]

"One’

>»»> list[3][1]

Two

>>> list[3][2]

"Three'

"Three']]

3 ,

one

 /

‘two

4

‘three’

[0] [1] [2]

[31[0]
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[31[1]

[31[2]

“suanlab

7



- OJo|E X 2| =22 Y (Data Processing Programming) - 04 2|2E J & ME,

SPEIEET

>>> list = ["One’, "Two', 'Three']
>»>> list[e:]

["One’, "Two', 'Three']

>»> list[:]

[ "One’, "Two', 'Three']

>>> list = ["One’, "Two', 'Three']
>>> list[1:2]

[ "Two ' ]

>»> list[1:]

[ "Two', 'Three']

“suanlab
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S8 B|AE &2} Alsticing O

- SHE P AEOM YRR QAYAZ F 227 (100 7 L 2 S Lone, e, hree ]
SiA 7t = I A [3, ['One', 'Two', 'Three']]
>>» list[3][2:]
[ ‘Three']
>>>» list[3][:2]
["One’, "Two']
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2| AE A4

= o7 * ALk

» 2[AE ZO0|len() &
>»» list 1 =
>»» list 2 =

>»>» list 1 +

[‘'One’, "Two’, 'Three']
[ "Four', "Five', 'Six’]
list 2

[ "One’, "Two', 'Three', 'Four', 'Five', 'Six’]

>»>» list 1 F

[ "One’, "Two', 'Three', 'One’', 'Two',

3

>»>>» len(list 1)

3

>>> len(list 1 + list 2)

6
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"Three',

JEIEE

"One ',

"Two', 'Three']
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>»>»> list = ['One’, "Two', 'Three']

>>» list[2] = 3
>>> list

[‘One’, "Two', 3]
>>> list[1] = 2
>>> list

[‘One’, 2, 3]

>>» list[e] = 1
>>> list

[1, 2, 3]

“suanlab
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CODE
AE A X SEA »>»> list = ['One’, "Two', 'Three'
- El 2.4 _'_7|- D—rappendo >>> 1ist.ap[£end{'Fuur') ]
>>»» list
[ "One’, "Two', 'Three', 'Four']
>»>>» list.append([1, 2, 3, 4])
>»> list
[ "One’, "Two', 'Three', 'Four', [1, 2, 3, 4]]
» 2| AE HEH ok sort() >»>> list = [10, 40, 20, 30]
»>»>» list.sort()
>»» list

[10, 20, 30, 40]

>>> list = ['orange’, 'apple’, 'banana’, 'strawberry’]
>>>» list.sort()

>>> list

[ "apple’, 'banana', 'orange', 'strawberry’]
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>>» list = ["orange’, "apple’, 'banana’, 'strawberry’]
>>>» list.reverse()

>»>> list

[ "strawberry’, 'banana’, 'apple’, 'orange’]

. ElAEOl QA 70| CHSH ORI A E His} >>> list = [1e, 40, 20, 30]
>>» list.index(1@)
St= < index() 0
>>» list.index(20)
2
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A E olA
Ell-—--—- =T
a 2| AE QA AFOI SEA - >»>» list = [1e, 40, 20, 30]
| = DTmsert() >>> list.insert(4, 50)
>»>» list

[10, 4@, 20, 30, 50]

>>> list.insert(0, 60)
»>»» list

[5@, le, 4o, 20, 30, 56]

- E|AE oA X—||7-| gt_zla removeo >>5 ]_]:_St = [1e, 4@, 20, 30]
>>» list.remove(48)
>>> list

[10, 20, 30]

>>> list.remove(30)
>>> 1list

[10, 20]
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L~ A .
o|2E g T00E

- ElAE oA x—||7-| '%P_JIK_ del >»» list = [1@, 40, 20, 30]
>>> del list[@e]
>>> del list[2]
>>» list
[40, 20]

= 2| AE QAE THL = &< pop() >>> list = [10, 40, 20, 30]
>>> list.pop()
30
>>> list
[10, 40, 20]
>>> list.pop(@)

10
>»» list
[48, 28]
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A ol —
EI—E nl-_l_ CODE
e JAE QAO| JA M= SEA >>> list = [10, 20, 20, 30, 30, 30]
| of 7= M= &4 count() >>> list.count(3e)
3
>>>» list.count(20)
2
N - . A
= O|AE 2 8 extend() >>> list = [10, 40, 20, 30]
>>>» list.extend([5@, 6@])
>>> list
[10, 4@, 20, 30, 50, 60]
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E AL —_—
= tuple =
P2 AEQL QABIRIT Y BIFSTAIE 02 O

ﬁﬂ'ﬂ%ﬁ >>> (1, 2, 3)

re) FSICE V1= (1, 2, 3)
- O|-|_|-_Q| O” O:IE-I E |'o >>> ('One’, '"Two', 'Three’)
= /(19'_1)/% Al__g_-(')-l_o:l E'C')I'_:I ("One’, "Two', 'Three’)

>>> (1, 'One’, 2, "Two', 3, 'Three’)
(1, 'One’, 2, "Two', 3, 'Three')

>»> (1, 2, 3, ('One’, "Two', 'Three'))
(1, 2, 3, ('One’, '"Two', 'Three'))
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>>> tuple = ("One’, "Two', 'Three')
>>> tuple

("One’, "Two', 'Three’)

>>> tuplef[@]

"One
>>> tuple[-1]

"Three'

>>»> tuple = (1, 2, 3, ('One’, "Two', 'Three'))
>>> tuple

(1, 2, 3, ('One', 'Two', 'Three'))

>>> tuple[3]

("One’, "Two', 'Three’)

>>> tuple[3][1]

"Two

SYETEE] Yrsuanlab 19



Islicing J—

3m
MUl
ul>
d
S
0

= & >>> tuple = ('One’, 'Two', 'Three’
P SZ0|QIEAE SN REQTIHG > twle - (ones Tuo, Three?)
HH*kf%% ('One’, 'Two', 'Three')
— " >>> tuple[:]
- %E% %EO-”A-I %—?——EE%E'Q&%%OH {IDHEI, ITWGI_,. 'Thrnee':]
A-l 7|'X:|% [[H A"% >>>» tuple[1:2]

("Two’,)

>>> tuple[1:]

("Two', 'Three')

>>» tuple = (1, 2, 3, ('One’, 'Two', 'Three'))
>>> tuplef[2:4]

(3, ("One’, '"Two', 'Three'))

>>> tuple[3][2:]

('Three'’,)

>>> tuple[3][:2]

("One’, "Two')
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>>> tuple 1 = ('One’, "Two', 'Three’)

>»> tuple 2 = ("Four', 'Five', 'Six’)

>>> tuple 1 + tuple 2

("One’, "Two', 'Three', 'Four', 'Five', 'Six")

>»>> tuple 1 * 3

(‘One’, "Two', 'Three', 'One’', 'Two', 'Three', 'One’, 'Two', 'Three')
>>> len(tuple 1)

3

>>> len(tuple 1 + tuple 2)

&)
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SPEIEET

>»> {1}

1)

>>> {'One’, "Two’, 'Three'}
{'Three', 'One’, 'Two'}

>>> {1e, 20, 30, 40}

{40, 18, 20, 30}

“suanlab
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M E ik 00t

—e . . »»> set 1 = {10, 20, 20, 30}
- EX|0|-, _ 3 3 3
= 250 &, intersection() >>> set_2 = {30, 30, 40, 50}
s SHAIGE. |,uni0n() ;;}set_l & set 2
» X|EISE -, djfferenceo ;E}}}set_l .intersection(set 2)
B1%)
= G{ &g A, symmetric_difference() 55> set 1 | set 2

50, 20, 40, 10, 30}

>>> set 1l.union(set 2)

{50, 20, 40, 10, 30}

»»> set 1 - set 2

f10, 20}

»>>>» set 1.difference(set 2)
f10, 20}

>»> set 1 ~ set 2

{40, 10, 50, 20}

>>> set 1.symmetric difference(set 2)
{40, 10, 50, 20}
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= CODE
= x|t & >»> set = {10, 20, 30, 40
- _9__+_§ _'_7|-O|-E add %I-_J'\_ >>» set an:lil{E-E!) /
. 03] QA2 ZT4BHS update() B4 > set
N - {40, 10, 50, 20, 30}
n QA X‘||7‘|O|-E remove() %l'fr— >>> set.update([60, 70, 80])
>»> set

{70, 40, 10, 80, 50, 20, 60, 30}
>>> set.remove(80)

>>> set.remove(70)

>>> set.remove(60)

>>> set

{40, 10, 50, 20, 30}
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>»> set = {1e, 20, 30, 40}

>>> set

{40, 10, 20, 30}
>>> set.discard(30)
>>> set

{40, 1@, 20}

>>> set.clear()

>>> set

set()

“suanlab
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- 9|key9|.a)lk-va1ue9_| ACKDI-EE _—I_L)é-)l5|_| E”olE_l :;:;:; SE = {1:'0One’, 2:'Two', 3:'Three'}
. —|—A‘|7|' A= [—||O|E-| {1: 'One', 2: 'Two', 3: 'Three'}
= 7|5 Sl U= €3

o

= o 740 AA
» 3277 UEEF HAUS

>>> dic = {1:'0One’, 2:'Two", 3:'Three'}

>>> dic

{1: 'One’, 2: "Two', 3: 'Three'}

>>> dic = {1:'0One’, 2:'Two', 3:'Three', 1:'0Onel’, 2:'Two2', 3:'Three3'}
>>> dic

{1: 'Onel’, 2: '"Two2', 3: 'Three3'}
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EIML 2] 24 F7HAH| e

C C TS XL+ >>> dic = {1:'0ne’, 2:'Two', 3: 'Three'}
 SAUEEL S 7] a0l di= 75t T G
QA _|_7|- {1: 'One’, 2: 'Two', 3: 'Three'}
>>»> dic[2]
» del &= 0|80 24 M| A Two' -
>>> dic[4] = 'Four
>>>» dic
f1: "One', 2: "Two', 3: 'Three', 4: 'Four'}
>»> dic[5] = 'Five'
>>»> dic

{1: 'One’', 2: 'Two', 3: 'Three', 4: 'Four', 5: 'Five'}
>>> del dic[4]

»>>> dic

f1: "One', 2: "Two', 3: 'Three', 5: 'Five'}
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C o A —
SA L] & [cO0E
i 41— >>» dic = {1:'0One’, 2:'Two', 3: 'Three'}
SAEE[L] 72 7 = keys() e >>> dic.keys()
. 414 F St dict keys([1, 2, 3])
EHA 2|2 ZAD'—l- 7|—X12 Values() O':' >>> dic.values()
i I:I 414dalo viX=} L dict values(['One’', 'Two', 'Three'])
AL _EL_l?le = 2572 >>> dic.items()
1tems() dict items([(1, "One'), (2, '"Two'), (3, 'Three')])
N " >>» dic.get(2)
. E'H'—ﬂEIOHH 7|0 3 E o= A= 7ML rwo
et oI-A >>> dic.pop(3)
'_ & "Three’
» SHMHZ|0M 7|0 S Eot= S e > dic
SEA {1: "One’, 2: 'Two'}
POPO =T >>> dic.clear()
« SIN2|0| BE QA4S HHSH dear) ;)
[o] o=
a1
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